Chapter 10 The Code of Life Test Review  Name: ____________________ Period: _______
Modified True/False
Indicate whether the statement is true or false.  If false, change the identified word or phrase to make the statement true.
T
1.
On each rung of a DNA ladder, the base thymine only pairs with the base pair adenine. _________________________
Answer the following questions (use complete sentences)


2.
Who was the person responsible for capturing the first image of a DNA molecule?

	
	

	
	Rosalind Franklin was responsible for capturing the first image of a DNA molecule.

	
	

	
	



3.
What are the two alternating molecules that make up the two sides of the DNA ladder?

	
	

	
	Sugar and Phosphate are the two alternating molecules that make up the two sides of the DNA molecule.

	
	

	
	



4.
A ____ is an abnormal condition that an organism inherits.

	a.
	mutation

	b.
	genetic disorder

	c.
	disease

	d.
	alteration



5.
Define mutation

	
	

	
	A mutation is a change in the hereditary material of an organism.

	
	

	
	



6.
Why is the order of the base pairs along a gene important?

	
	

	
	The order of the base pairs along a gene is important because it forms a code that tells a cell which protein to make.

	
	

	
	



7.
Explain why Plasmids are important:

	
	

	
	Plasmids are important in genetic engineering (e.g. production of insulin).

	
	

	
	


8. DNA fingerprinting allows scientists to?

	
	DNA fingerprinting allows scientist to identify individuals.

	
	

	
	

	
	



9.
The process of how a DNA molecule makes a copy of itself is referred to as DNA:

	
	

	
	The process of how a DNA molecule makes a copy of itself is referred to as DNA replication.

	
	

	
	



10.
What  is caused by an extra copy of chromosome 21?

	a.
	Cystic Fibrosis

	b.
	Hemophilia

	c.
	Downs Syndrome

	d.
	Sickle cell anemia



11.
Name 3 genetic disorders caused by Mutations.

	
	

	
	

	
	Sickle cell anemia , cystic fibrosis, and hemophilia

	
	



12.
What happens to the original DNA molecule at the end of DNA replication?

	
	

	
	

	
	The original DNA molecule remains intact.

	
	



13.
The first step of DNA replication is?

	
	

	
	

	
	The first step of DNA replication is the partial unwinding of the double helix

	
	



14.
A normal red blood cell has a base sequence of ACT CCT GAA GAA AAA. The offspring has a base sequence of ACT CCT GTA GAA AAA. The resulting offspring has? Explain:

	
	

	
	

	
	A change in the base sequence
Produced the wrong protein

A mutation in the base sequence

	
	



15.
One side of a DNA ladder has the base pairs in the following order: ATCGGTTCCA. What is the order of base pairs on the other side of the DNA ladder?

	
	

	
	TAGCCAAGGT

	
	

	
	



16.
All of the following are caused by gene mutations EXCEPT:

	a.
	extra large strawberries.

	b.
	sickle cell anemia.

	c.
	Downs Syndrome.

	d.
	Cystic Fibrosis.



17.
The production of insulin is an example of:

	
	

	
	

	
	The production of insulin is an example of genetic engineering.

	
	



18.
In genetic engineering scientists:

	a.
	have found new methods of producing organisms with desired traits.

	b.
	transfer genes from one organism to another.

	c.
	are able to produce products such as super-sweet corn and cold-resistant tomatoes.

	d.
	All of the above



19.
What do Scientists use to find evidence that modern humans descended from Africa about 100,000 years ago?

	
	

	
	

	
	Scientist use Mitochondrial DNA to find evidence that modern humans descended from Africa about 100,000 years ago.

	
	


Completion
Complete each statement.
Select the correct term to complete each sentence. There are extra terms in the list.
	RNA strand
	proteins
	genetic engineering

	sex cells
	base sequence
	3 bases

	2 bases
	4 bases
	uracil

	guanine
	adenine
	thymine

	protein synthesis
	mutation
	genome

	transfer RNA
	messenger RNA
	chromosome

	gene
	double helix
	selective breeding

	mother
	father
	DNA replication



20.
The order of base pairs along a gene is called its _base sequence.

21.
The base pair cytosine only pairs with the base pair guanine in DNA sequencing

22.
DNA replication ensures that each daughter cell has an exact copy of the DNA from the parent cell.

23.
DNA molecules are in the shape of a double helix.

24.
Genes control the production of proteins.

25.
The code for one amino acid is made of 3 bases.

26.
A parent organism has the base sequence ACT CCT GAA GAA AAA, and the base sequence of the offspring is ACT CCT GTA GAA AAA. A mutation has occurred during protein production

27.
Tomatoes that can withstand cold temperatures and extra large strawberries are two examples of the process of genetic engineering.

28.
The only way that a mutation can be passed on to offspring is if it is found in the sex cells of the parent organism.

29.
A genome is the total amount of hereditary material in a single cell of an organism.

30.
Mitochondrial DNA is inherited from the mother.

31.
A chromosome is a bunch of genes in a single unit.
Short Answer

32.
A double helix DNA molecule has the following code:

ATGCTTGCC  
TACGAACGG 
After DNA replication, what is the outcome?

2DNA molecules that have the following code:
TACGAACGG
ATGCTTGCC

33.
A base sequence along one side of a DNA molecule is shown below. Write out the sequence of messenger RNA that would pair with the bases shown.

TAGGCTACC

AUCCGAUGG

34.
You know that when purple flowers mate with purple flowers, the offspring is always purple. You also know that if purple flowers mate with white flowers the offspring is either white or purple. You decide that you want to give your family purple flowers for Christmas. What type of flowers will you mate. What strategy have you used in pollinating the flowers?

Mate purple flowers with purple flowers.  This is called selective breeding.
